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����� 3 

 
��	
� ��
���� �������
�������������� 

 
3.1 ��	
� �����
����  �����	
��
 
 
 3.1.1 ���
�������������������	����
��� 
 - ����
������ 13  �!
 "
���� ���	��� ���#!� $%&�'��� �(��)� ���*$+ $��� #�,��!�� +��$-� 
#�,�./�
�� ������ �����
$�� ����������� ���0���� (����� 3.1) 
 - �0�-,��	��3!��
45+!6�����
��

���7%
+ (Trimble Navigator, Basic Plus, USA) 
 - ���7%,�(��4���'+��+  
 3.1.2 ���
�������������������%
+����
��� 
 - �0�-,�� �,� 2 �(��'��� (Mettler ���� PB 300-S) 
 - #�
 Q(���� 2 �	 �(�'��	�	����
��� 
 - '+��������� Q(���� 2 �	 �(�'��	��� 
 - �������������
���$��
�������65�
����� 6.5 x 7.5 �V��!�+�� 
 - ����	 (4�3�����	 3.1) 
 - ������ (4�3�����	 3.2) 
 

 
  
 
 
 
 
 
 

 
�� 
����� 3.1 ����	"WWX� ������'45+! 25 - 150 ��6��V��V%
� 
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          �� 
����� 3.2 ���������'45+!�5� 
   
 3.1.3 ���
�������������������%
+�������
���+���Z���(�'��	���7
��� 
 - ���+���Z�� IAEA-RGU -1 0��+�������% 2470 mBq 
 - 	%������ 
 - �0�-,�� �,� 4 �(��'��� (Mettler ���� AB 204-S) 
 - ��
 HNO3 1 N ��� �&(����,� 
 - Hot plate ��� Magnetic stirrer 
 - �������������
��� 
 
 3.1.4 ���
������������(�'��	$�&����������Q��
����%��++�  
 - �������������
��� 
 - �0�-,��0�+3!������ 
 -  �
��		��
����%��++� (Gamma Ray Spectrometer) V),������	"�
��
 '����
 
HPGe (Canberra Model GC 1319, USA) �
5�4�
��#&(�����,��(�	������% (Canberra Model 747, USA) 
�0�-,���!�0���'���hh���		'��
 ��� (MCA 8192  ��� Canberra Model Inspector 2000, USA) 
����!�0���'�
�
3����������%��++�
��
*�����+�(����Q�5� (Canberra, Genie2k software 
Version 2.1, USA) 
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�� 
����� 3.3  �
��		��
����%��++� (Gamma Ray Spectrometer) 
 

3.2 ���"���#$�
����%������������&�'��������($)�$ ��'(��
	'&�� 

 

  �(��4���'+��+��&��
5����$�Q��'��
��$�� 7%,3!��
 UTM 760000N n 777000N 
��� 665000E - 680000E ���o��45+!����76�����	
��
7%,��	���+�������$��3-&�7%, ���+%45�$�
���+��	 (4�3�����	 3.4) V),�7!6�'�-������	
��
�$�0�'��� 0�����"7� 0���	3�
 0��'!�
3�� ���0��*�p�"'+ 7��7!6�������+%�$�0��'��� 0��������� 0��Q� 0������'+�� 0��$��� 
��� 0���q�
��V),���r�7%,��&�$���'+-�����7���*3s!t�
5�7����
�$�
���7!6�������� ����'+-�����7���
$+!&� �
5�7��7!6�'�-� 
  ���o��7��s��%�!7
�$��3-&�7%,7%,6)�o� �����	
��
'!������ '!���� 
'!�����!� 
!� 7��
 ������
7%,
��"+�Q�	��� *

3	�����
�$��'!������ ���'!���� �
5��� ��� 
���+�����
�00���	��!�W���� '!�����!�+%��
����+�����

�0"7����V!�#)����
�0Q5���V!� 
���� 
!� 7��
 ���
 ���+����
5���
�00���7������% ���Q����&�
��3	���'!�����!����'+-�����
7���*3s!t+%�������4�3
��
�!7s!3�$���p�V����������
����  *

���Q3	����W�
��������!

�������4�3"���r����
!�$�� (Kaolin) '!�����!�	�!����%&Q)�+%���o���� ���� 3��� 7(��'�s���
*�'���'!�����!�+%*����#5� ���������
��"��
5���
!� ����&(����
!�"
����
 ���Q���%&+%
��
���������Q3	���7����	���"��� (Torbernite) V),���r������++�������%7%,+%s���
5����%
+�
5�#)� 48 
������V���*

�&(�'��� +%�5���0+% Cu2 (UO2)2 (PO4)2 8-12H2O (s� �
, 2527) 
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�� 
����� 3.4 ���7%,s��%�!7
��(��4���'+��+ Q��'��
��$�� (s� �
, 2527) 
 

3.3 &�+�,������,���$,����)�' 

 

 3.3.1 �����-�,����)�'.�� 

 

 7(�������	����
���������(��4���'+��+ *

3!Q����Q�
���	����
���Q�����7%,
���o��7��s��%�!7
� (4�3�����	 3.4) �3-,�
5�(��'���7%,��r����45�$�'!�����!� ��
��-,�� 
(Fault) ����7���&(�"'��(�'��	���������7%,Q�7(�������	����
��� *

7(�������	����
������7%,�!
+
	�!*40 13  �!
 (����� 3.1) Q��3-&�7%,�(��4���'+��+ Q��'��
��$�� V),����Q��	�(��'���Q�
���	
����
���
��
�0�-,��	��3!��
45+!6�����
��

���7%
+ (Trimble Navigator, Basic Plus, USA) 
(4�3�����	 3.5) 
(���!�������	����
�������� ����
-�� 3wo4�0+ 2548 n ��+4�3��s� 2549 
���%& 
  - �(�	�3!Q!�� 7(�������	����
������ 25 ����
��� ���Q�
"�7�&��(�	� ���	���"
� 9 
 �!
 "
���� $%&�'��� ���#!� #�,�./�
�� +��$-� ���	��� $��� #�,��!�� ����������� ��������
$��  

 - �(�	���'+��+ 7(�������	����
������ 25 ����
��� ���Q�
"�7�&��(�	� ���	���"
� 
7  �!
 "
���� �(��)� $%&�'��� ���#!� #�,�./�
�� +��$-� ���	��� ������*$+  

N 
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 - �(�	�0���'���7(�������	����
������ 27 ����
��� ���Q�
"�7�&��(�	� ���	���"
� 
10  �!
 "
���� �(��)� $%&�'��� ���#!� ����������� #�,��!�� $��� 0���� #�,�./�
�� +��$-� ������*$+  

 - �(�	�7���$+!&�7(�������	����
������ 21 ����
��� ���Q�
"�7�&��(�	� ���	���"
�  
8  �!
 "
���� �(��)� $%&�'��� ���#!� ���	��� #�,�./�
�� +��$-� ������ ������*$+ 
  *

���0�	0�+���	Q���(��4�	����,(� V),��
5�'���Q��3-&�7%,6)�o����(��4���'+��+ 
7(�������	��� 9  �!
 "
���� $%&�'��� #�,�./�
�� +��$-� ���	��� 0���� �(��)� ���*$+ ����������� ��� 
�����
$��  
 

 
 
 
 
 
 
 
 
 
 

 

 

�� 
����� 3.5 Q�
���	����
������7�&�'+
 98 Q�
 
 

THAILAND

Bangkok

665000 670000 675000 680000

665000 670000 675000 680000

760000

765000

770000

775000

760000

765000

770000
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,���' 3.1 Q(��������
����������� �!
 
 

Sample of vegetables 
Type of vegetables Part of use Pijit  

sub-district 
Thungkamin 
sub-district 

Klongrang 
sub-district 

Namom  
sub-district

Bang Klam  
sub-district  

Ivy Gourd (�(��)�) leave - 7 7 6 2 
Yellow Cassia 
($%&�'���) 

leave 1 4 2 6 - 

White Popinac 
(���#!�) 

leave 2 2 5 7 1 

Yard Long Bean 
(#�,�./�
��) 

fruit 5 3 - 2 1 

Swamp Cabbage 
(���	���) 

leave 1 - 1 - 1 

Egg Plant (+��$-�) fruit 4 1 1 1 1 
Rice ($���) fruit 3 2 3 2 1 
Peanut (#�,��!��) root 2 - 4 - - 
Spineless Amaranth  
(���*$+) 

leave 5 - 2 - - 

Chinese Cabbage 
(�����
$��) 

leave - 1 1 1 1 

Mustart 
(�����������) 

leave 2 - - - 1 

Kale (0����) leave - - 1 - 1 
Cucumbers (������) fruit - 1 - - - 

Total 25 21 27 25 10 

 

($���(,� : - 8$)$�,����)�' 
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�. ����
������Q��3-&�7%,�(��4���'+��+ 

 
$. ���� ���	��7)��&(�'����
 

 
0. �	�'��"��0��+ -&� 

 
�. ���Q���r��#�� 

 
Q. �#�����Q�������� 

 
}. �(�$%&�#��+�	��Q�����~
��)� 

 

�� 
����� 3.6 $�&����������%
+����
������ (�) ����
������Q��3-&�7%,�(��4���'+��+ ($) ���� 
���	��7)��&(�'����
 (0) �	�'��"��0��+ -&� (�) ���Q���r��#�� (Q) �#�����Q��
������ (}) �(�$%&�#��+�	��Q�����~
��)� 
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3.3.2 ����,���$,����)�'.��
:������� ��� ����.� 

 
  ���7%,���	���������
������+�� 1- 2 �!*����+ (4�3�����	 3.6 �) �(�+��������
 �,��&(�'��� 	��7)��&(�'����
 (4�3�����	 3.6 $) Q����&��(�"��	�'��"��0��+ -&�
��
����	
"WWX� (4�3�����	 3.6 0) 7%,���'45+! 150 ��6��V��V%
� ��r����� 250 ��7% ����(�"����
��

������ 7%,���'45+! 500 ��6��V��V%
� (4�3�����	 3.6 �) ��r����� 180 ��7% Q�"
�$%&�#����� 
(4�3�����	 3.6 Q) 	��Q�����������~
��)� ����(�"� �,��&(�'��� (4�3�����	 3.6 }) Q����&�
�(�"���
����%��++�$�����
%
+-226 
��
�0�-,������*��+!���������%��++� *

��
���������
���
�������
����� 360 ��7% 
 

 3.3.3 ����,���$	���:�'��'$�,�;��	��(������(�<)�
��	������  

 
  �0�-,������*��+!���������%��++�7%,� �#5����	�7%
	����!7s!4�3
��
���
�!�0���'���������!�+���Z��$��7	�����3��������+��5��'��������76 (IAEA, International 
Atomic Energy Agency) �(�'��	���	�7%
	0��0��+�������%���
%
+-226 *

� ���������!�+���Z�� 
IAEA-RGU-1 7%,+%0��0��+�������%���
%
+-226 �7����	 2470 mBq ��+����$%&�#�����7%,���Q
�!�0���'��������"+�+%�!�"0�
���++�������%���
%
+-226 (Background) �(�����������~
��)� ������


��
����*��+!���������%��++� �!�0���'�3����������%��++�7%,��
����
+�Q�����
%
+-226 *


���7%,3������ 186.2 keV � ���
%
���	����!�0���'��������
��� 
 

3.3.4 ���
��������<)�
��	������  (Efficiency Calibration)  

 

  ���+��� (3.1) �(�'��	0(����0������!7s!4�3$����		��
����%Q�$)&��
5���	
�/QQ�
'��
��� 0-� ���o���5�����$��4� ��7%,	��Q�����
��� (Geometry) $��
$�����������
����
��� (Sample-size) 0��+'������$������
��� (density) ��
�7��$���������
���Q��'����
 
����(�'��	'����
7%,� ���
����%��++� 0������!7s!4�3Q�+%������%,
������
���+%��
�(�0�h��	0��
3����������% 

  
����&�����		�����
����%'�),�� Q)�����+%������	�7%
	0������!7s!4�3*

���
� ����+���Z��7%,7��	0��0��+�$�+$��'�-�0����++���4�3$��"�*V*7������ 7%,��
����
����%
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��++�'��
0��3������ ����+$��+5�$��0������!7s!4�3 ���0��3������ Q�+%0��+��+3��s����
��
�+��� (3.1) 

                           
 

�+-,�  Activity     0-� 0����++���4�3$���!�"0�
���++�������% +%'���
��r� Bq $�����+���Z�� 
                          7%,3����������%�}3��  

 Yield       0-� branching ratio fraction  
 Live Time  0-� the actual ADC live time +%'���
��r� �!��7% (s) 

Efficiency 0-� 0������!7s!4�3$��'����
 � 3����������%��++� ��'���
 cps/Bq  
 Net area      0-� 3-&�7%,���
�
�������+3����������%7%,�!�0���'� 
  Q�����7
���� ���		�!�0���'�����%��++�7%,+%'����
 HPGe ��� MCA $��
 

8192  ��� 7(�������	�7%
	0��3����������%��++� *

�����
����%��++�7%,��
����
+�Q�����
�����!�+���Z��$��7	�����3��������+��5��'��������76 (IAEA, International Atomic 
Energy Agency) *

� ������++�������%�����!�+���Z�� IAEA-RGU-1 7%,+%0��0��+�������%
���
%
+-226 �7����	 2470 mBq 0(����0������!7s!4�3$�����
%
+-226 "
��7����	 0.046858 cps/Bq  
 

3.3.5 ������<���(�	�
�,��$��'	���$$� 

  

  �������+����%��++�$�����������
���Q�#5���

��
�0�-,����++�����*��
+!����� (Gamma Ray Spectrometer) *

+%'����
 HPGe (High purity Germanium) (Canberra 
Model GC 1319, USA) �
5�4�
��#&(�����,��(�	������%45+!'��� (Canberra Model 747, USA) '����
Q�
� -,�+�����	�0�-,���!�0���'��		'��
 ��� (8192  ��� Canberra Model Inspector 2000, USA) ���
�!�0���'�
�
3����������%��++�
��
*�����+�(����Q�5� (Canberra, Genie2k software Version 
2.1, USA) '����
����%��++�+%����!7s!4�3��+3�7s� 13.9% ���+%�(�����
� 1.75 keV 7%,3������
����%��++� 1332 keV $��*0	����-60 ���+%�����������'����
�
3���������Z��0�+3����
�7����	 44.8:1 

  ����!�0���'��������+7%,"
�Q��'����
����%��++� �!
 HPGe ��� MCA Q�
�����	
��
����!�0���'����
�
3����������%��++������
�
3������ +�Q���!�"0�
�����
 *


���!
�
3����������%��++�$��'����
 HPGe Q�+%0��+�'�+0+ ���#��������	�7%
	3������

( )( )( )

Net area
Efficiency

livetime Activity Yield
= (3.1) 
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��	 ���7(�"
��
����7%,
���� ���� �*�����+�(����Q�5� (Automatic peak search) $��*�����+
�!�0���'� Q�7(��'���+��#��	� �!
$���!�"0�
�"
��
����+��
(�  

  $�&������
7��
������!�0���'��!�"0�
� 0-� ���'�0��+�$�+$����++���4�3����%
Q(��3�������"�*V*7� V),�*

���!3-&�7%,����������+ (NET AREA) Q���+3��s�*

���� !�����
��	0��+�$�+ �����	0��+�$�+$�� �����Q(���r��������	���0������!7s!4�3$��'����
7%,3������
����� 
��
 (����!7s!4�3��r�W/��� ����	3����������%) ��
����������
���$��3����������%�����&� 
���0��0�),� %�!� 

  ������!�0���'�0��&��%& 0����++���4�3$�����
%
+ n 226 0(����Q��
�
3������
����%��++�$�����
%
+ n 226 (186.2 keV) � �������
����%��� 21,600 �!��7% 0(����Q���+���  

 
  

 0����++���4�3Q(��3��$�����
%
+-226  = 
)kg(weight

)Bq(Activity                  (3.3) 

 
�+-,�  Activity     0-� 0����++���4�3$���!�"0�
���++�������% +%'���
��r� Bq $�����+���Z�� 
                          7%,3����������%�}3��  

 Yield       0-� branching ratio fraction  
 Live Time  0-� the actual ADC live time +%'���
��r� �!��7% (s) 

Efficiency  0-� 0������!7s!4�3$��'����
 � 3����������%��++� ��'���
 cps/Bq  
 Net area      0-� 3-&�7%,���
�
�������+3����������%7%,�!�0���'� 

0(����0���}�%,
��r�0����++���4�3Q(��3��$�����
%
+-226 ��'���
 Bq/kg  
     
3.3.6 <)���$$��,�� ,���	�
&�'�<�I��'$I� (Minimal Detectable Activity, MDA) 

 

  �����0(����0����++���4�3�,(���
7%,���Q��
"
� $���!�"0�
��
� 7%,��
�	0��+
� -,�+�,� 95 ������V���� � ��+���$�� Currie�s Derivation (Currie, 1968) V),�'�),�������+�+��� �


������� ��0-�  
 

( )( )( )

Net area
Activity

livetime Efficiency Yield
= (3.2) 
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2.71 + 4.66
MDA (Bq) = 

(LT) (Eff) (Y)

σ     (3.4) 

 
�+-,�   σ 0-� SD $�� BG 7%,3������7%,���Q 
  LT 0-� collecting live time (sec) 
  Eff 0-� efficiency 
  Y 0-� branching ratio fraction 

  
  �������
0������%45+!'���V),����%
+Q������������� V),�"
�7(������+Q(������	
����%�}3��
�
3������$�����
%
+-226 +%0���	%,
��	�+���Z�� (σ) �7����	 0.014532 0(����0�� 
��++���4�3�,(���
$���0�-,��+-� (MDA) ��+�+���$�� Currie �+-,����	�7%
	
��
0������!7s!4�3
$����		��
 (13.9 %) "
�0��$%
Q(���
�,(���
$���0�-,��+-���
 (the Lower Limit of Detection) 
(L.L.D.) �7����	 0.082 Bq V),���+��#���	����0���'�
%$)&�"
�*

���    
  (1) �3!,+0������!7s!4�3$��'����
 
  (2) �
0������%45+!'��� 
  (3) �3!,+������
����%     

  *

���!��QQ(���r�7%,������-��� �������
7%,�'+���+ �3-,��'�+�,��Q"
���� 0����+
+���4�3�,(���
$���0�-,��+-� +%0���,(�������
�	+���Z����!	��! (action level) 7%,���������
 

 
3.4 ���
���$��
��$����'	�
��	����.�����)�'���8
:���,)�
P 

 
  ������!�0���'������7	$������%���+��o
�Q�����	�!*40���������������% Q�

3!Q�����}3�������7	7%,+�Q�����
%
+-226 ����5�'���$��+���7����&� *

Q�"+�3!Q��������
7%,��r������7	7%,+�Q�� 7���%
+-232 ��� �5�'���$��7���%
+-232 

  �������+!����	�!*40���7%,+%��������������
%
+-226 $�� ���(��4���'+��+ 
Q��'��
��$�� *

���*�+� ������$��0�����+����!7
�6�����$���'��� � ��!���
��

�����7	$������% (United Nations Scientific Committee on the Effects of Atomic Radiation; 
UNSCEAR, 2000) V),�����+!���������	�!*40���"��7%, 164 ���+������ ������ 1 �� ��� � �Q�
	�!*40��� 60 �!*����+ �+-,�� �0���/QQ�
 0.28  µSv/Bq V),�� ��(�'��	�������+!���!+������%
����!7s!��7%,������
�5��'h�"
���	����� (adult annual equivalent dose) 0(����0����!+������%
����!7s!������� Q���+��� (3.5) 



 24 

 
Adult annual equivalent Dose (Sv/y) = Factor Value (Sv/Bq) × Consumption (kg/y) ×  

           Specific activity of Radium-226 (Bq/kg)                  (3.5) 
 
�+-,�  Factor Value 0-� 0���/QQ�
7%,� ��(�'��	�������+!���!+������%����!7s!�� +%0���7����	 
    0.28 µSv/Bq 
 Consumption 0-� ��������	�!*40��������� 1 �� +%'���
��r� kg/y 
 Specific activity of Radium-226 0-� 0����++���4�3Q(��3��$�����
%
+-226 +%'���
��r�
          Bq/kg 
 Adult annual equivalent Dose 0-� 0����!+������%����!7s!��7%,������
"
���	����� +%'���

      ��r� 

µSv/ �� 
 
3.5 ���
���$��<��$�	���'����)�'���8
:������������Q�<.�� 

 
  �������+!�0��+��%,
�7������%Q�����	�!*40���7%,+%��������������
%
+-226 Q�

����+!�Q��0�� Radiation Risk Factor (RRF) V),�0-��/QQ�
7%,� ����������+!�0��+��%,
�7������%
Q�����	�!*40��� *

+%0����
������'������!+������%���
%
+-226 7%,"
���	����� ��	��!+������%
�����!� (reference dose, RfD) V),�+%0�� 8 µSv/y (UNSCEAR, 2000)  

 

Radiation Risk Factor (RRF) =
)y/Sv(RfD

)y/Sv(DoseEquivalentAnnualAdult

µ

µ       (3.6) 

 
�+-,�  Radiation Risk Factor (RRF) 0-� �/QQ�
7%,� �����+!�0��+��%,
�7������%��-,��Q����� 
     	�!*40���  
 RfD 0-� ��!+������%�����!� +%0���7����	 8 µSv/y  
 Adult annual equivalent dose 0-� 0����!+������%����!7s!��7%,������
"
���	����� +%'���

                ��r� 

µSv/ ��  
 
*

7%,    RRF ≤ 1 +%0��0��+��%,
�7������%�
5�����������! 

              RRF > 1 +%0��0��+��%,
�7������%+��������������! 
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3.6 	R�,�&�'������&:�$#� 

 
 3.6.1 0���}�%,
 (Mean) '+�
#)� 0������7�$��+5�7%,+�Q��7��0��$��$��+5�Q�!�#5��}�%,
+�

��r�����7�$��+5��3%
�0���
%
� �!
+� �+��7%,��
 ���+%0���+	��!7��0�!�6�����+��7%,��
 �3���
�(�$��+5�7�����+�'�0���}�%,
 
��������%7%,$��+5�+%������Q�
+��� �	��"
���r� 3  �!
 ��+
���o��$��$��+5� "
����  

  3.6.1.1 0���}�%,
��$0�!� (Arithmetic mean) �7�
��
��h���o�� Χ'+�
#)� 0��
����$��$��+5�7%,'�0��"
�Q������+$��+5� �!
��!+��7�&�'+
 Q����&�'��
��
Q(����$��+5�
7�&�'+
 V),�$��+5�7%,�(�+��!�0���'�+%������Q�
�		���! (Normal Distribution) 

*

    
N

i

N

1i

ΧΣ
=Χ =                        (3.7) 

  3.6.1.2 0���}�%,
��$�0�!� (Geometric mean) �7�
��
��h���o�� G *

�(�'��	
��$Q(�������+	�� N Q(���� �����	
��
 Χ1 , Χ2 , Χ3 , �, ΧN ��r��5��		�����+��$�0�!� 
0���}�%,
$��+5�'�"
�Q�� 

   N
N321

,...,,,G ΧΧΧΧ=                  (3.8) 

  Q�� ������%7%,$��+5�+%������Q�
+�� ���$��+5�"+�+%0�� 0 �+-,�������r�0���}�%,

��$�0�!�����$��+5�Q�+%���o��������Q�
�		���! 

  3.6.1.3 0���}�%,
����*+�!0 (Harmonic mean) �7�
��
��h���o�� H 0-��������	
$��0���}�%,
��$0�!�$��Q(���������$V),���������� *

+%�5��0(����
���%& 

   

i

N

1i
i

N

1i
i

1

N

1

N

1

1
H

Χ
Σ

=

Χ
Σ

=

==

                  (3.9) 

 3.6.2 +�s
Z�� (Median) $��+5�7%,�
5���������+-,���%
�0��Q�����
"�+�� � ��+-,�$��+5�+%
0���5���
 ����,(���
�������+�� ���$��+5�+%������Q�
�		�	�+�� � 

 3.6.3 Z���!
+ (Mode) 0-�Q(����V&(�+��7%,��
� ���$��+5� �
'�),� 
 3.6.4 �����
������Q�
$��$��+5� (Measurement of Dispersion) �#!�!7%,� ���
������Q�


$��$��+5�+%'��
�		 � �� 3!��
 (Range) �����	%,
��	�0����"7�� (Quartile Deviation) ����
�	%,
��	�+���Z�� (Standard Deviation) 0��0��+������� (Variance) 0��������V����"7�� 
(Percentile), ������������! (Coefficient of Variation) ��� 0��0��+0��
�0�-,��+���Z�� 
(Standard Error of the mean)  
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�. 3!��
 (Range) Q�	��0���,(���
����5���
$��$��+5���&� 
$. �����	%,
��	�+���Z�� (Standard Deviation) Q�+%0���5�#��$��+5������0��"
�+�

Q����� ���7%,+%���o������������+�� ���Q�+%0�����
 #��"
�+�Q����� ���7%,+%���o��
�������������
 

0. ������������! (Coefficient of Variation) ��r������$7%,+%���*
 �������� �
���%
	�7%
	$��
$������+����
���7%,6)�o������%7%,0���}�%,
$������+����
����'�����&�"+��7����� 
'�-�+%'���
��
�������  

= ×
S.D

Coefficient of Variation 100
mean                (3.10) 

 
7�&��%&�3-,�7(��'� SD $��$��+5�����+���� � ���%
	�7%
	���"
� ���Q���%&
��� ������

0(����'�$��
����
���7%,�'+���+"
�
��
 
�. 0��+0��
�0�-,��+���Z�� (Standard Error of the mean or SE) 0-� �����$7%,	��

#)�0��+���������!$��0���}�%,
Q������+����
��� 7%,���+���Q����� ����
%
���� 0��0��+0��

�0�-,��+���Z��Q�+%0�����
����0��+����������!$��$��+5�7�,�"� (Standard Deviation) �3���
0���}�%,
$������+����
���
��+���������
���� 0��+������$������+��� ��� 

   =
SD

SE
n
                 (3.11) 

 
Q.  ���� -,�+�,�7%, 95% (95% Confidence interval) �������$��+5����Q��0���}�%,
 

��� �����	%,
��	�+���Z������ �����7
���V&(�� 100 0��&� 0���}�%,
7%,"
�Q����
5��� ���             
X +1.96 SE  95 0��&� 
    95% Confidence interval = X ±1.96 SE                          (3.12) 
 
  V),����!7
��!3�s�}	�	�%&"
�'�0���}�%,
 0��+�s
Z�� 0���	%,
��	�+���Z�� ���0��
0��+0��
�0�-,��+���Z�� ���"
�� �0���}�%,
��$�0�!���r�����7�����Q��Q�$��+5�0�����
���Q�
$����++���4�3Q(��3���}�%,
$�����
%
+-226 ������
������7�&�'+
 ���(��4���'+��+ 
Q��'��
��$�� 
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3.7 ������<���(�&:�$#���� Box Plot 

 
 Box plot ��r��70�!07%,�'���
����%

��%,
���	����Q��Q�$��$��+5� *

Q��'�
��
����%

$��0���#!�!�3-,����Q��	�(�'��	����Q��Q� ��,�0-�Q� plot 0��+�s
Z�� ������V����
"7��7%, 25, 27 ����'�0��$��+5�7%,+%0���!
���! ��,�0-� 0��7%,�5�+��'�-��,(�+�� (outlier) Q��0������  
 �������� Box plot Q�� �0���#!�! 5 0�� 
��
���0-�  

1. 0���,(���
$��$��+5�7%,
��"+��,(��!
���! 
2. 0��"7��7%, 1 (Q1) 
3. 0��+�s
Z�� '�-�0��"7��7%, 2 (Q2) 
4. 0��"7��7%, 3 (Q3) 
5. 0���5���
$��$��+5�7%,
��"+��5��!
���! 

    0���,(���
    =    ������V����"7��7%, 25 $��$��+5� '�-� 0��"7��7%, 1 (Q1) 
    0���5���
   =    ������V����"7��7%, 75 $��$��+5� '�-� 0��"7��7%, 3 (Q3) 
    0������    =    0��+�s
Z�� '�-� ������V����"7��7%, 50 $��$��+5� '�-� 0��"7��7%, 2 (Q2) 
0��+�����$�� box = Q3 n Q1 = IQR (Interquartile Range) '�-��������� 50% $��$��+5��
5��� box 
• 0���5���
$��$��+5�7%,
��"+��5��!
���!  0-� 0���5���
$��$��+5� �
��&�� 7%,+%0��"+� ��!�                 

Q1 + 1.5IQR 
• 0���,(���
$��$��+5�7%,
��"+��,(��!
���! 0-� 0���,(���
$��$��+5� �
��&�� 7%,+%0��"+��,(�����              

Q1 - 1.5IQR 
 
 
 
 
 
 
 
 
 
     
�� 
����� 3.7  ��
����o��$�� Box plot 

* 
� 

0��$��$��+5�7%,+������ Q3 + 3IQR Q)���%
���� Extreme 

0��$��$��+5�7%,+������ Q3 + 1.5IQR Q)���%
���� Outlier 

0���5���
$�� box = Q3 

Q2  = 0��+�s
Z�� 

0���,(���
$�� box = Q1 

0���,(���
$��$��+5�7%,
��"+��,(��!
���! 

0��$��$��+5�7%,���
���� Q1 - 1.5IQR Q)���%
������r� Outlier 

0��$��$��+5�7%,���
���� Q1 n 3IQR Q)���%
������r� extreme 

�

* 

0���5���
$��$��+5�7%,
��"+��5��!
���! 
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���Q����&� Box plot 
����
�0���!
���! 2 ���o�� 0-� 
1. $��+5�7%,+%0��+����� 3 �7��$��0��+�����$�� box ��,�0-� $��+5�7%,+%0��+������ Q3 + 3(IQR) '�-�

$��+5�7%,+%0�����
���� Q1 n 3(IQR) ���Q���%
�0���'����%&��� extremes ��
�
��
�0�-,��'+�
 

��Q�� (*)  

2. $��+5�7%,+%0����'���� 1.5 #)� 3 �7��$��0��+�����$�� box ��,�0-� $��+5�7%,+%0��+������ Q3 + 
1.5(IQR) ���"+���!� Q3 + 3(IQR) '�-�$��+5�7%,+%0�����
���� Q1 n 1.5(IQR) ���"+����
���� Q3 n 
3(IQR) *

Q���%
�0���'����%&��� Outlier ��
�
��
�0�-,��'+�
����+(�)  

0��+'+�
$�� Box plot  
1. �����
0������$��$��+5� '�-�0��+�	�$��$��+5� Q�3!Q����Q��0��+�s
Z�� 
���%& 

• #��0��+�s
Z���
5��������$�� box ��
��������Q��Q�$��$��+5�+%0��+�++��� 
��
4�3�����	 3.8 (�) 

• #��0��+�s
Z���
5�+�7��
�������$�� box ��
����$��+5��	�	�� '�-��	�$�� 
��
4�3�����	 3.8 ($) 

• #��0��+�s
Z���
5�+�7��
��	�$�� box ��
����$��+5��	��	 '�-��	�V��
 
��
4�3�����	 3.8 (0) 

 
�� 
����� 3.8 ��
����o��$��0������ 
 
2. �����
������Q�
$��$��+5� Q�3!Q����Q�� 

�. 0��+�����$�� box  
• #��0��+�����$�� box +�� ��
����$��+5�+%������Q�
+�� 
• #��0��+�����$�� box ���
 ��
���$��+5�+%������Q�
���
 

$. 0�� Outlier ��� extremes  
• #��+% Outlier ��� extremes +�� ��
����'��$������Q��Q�
��'�-�$��+5�+%���

���Q�
+�� 
• #��+% Outlier ��� extremes ���
 ��
����'��$������Q��Q���&�'�-�$��+5�+%���

���Q�
���
 

(�) �++��� ($) �	�$�� (0) �	�V��
 


